
Answer on Question #75633 – Math – Discrete Mathematics 

Сonsider the function f . 

Let's denote the set {a, b, c} as set A and the set {1, 2, 3} as set B. Then 

function f  is a mapping 𝑓: 𝐴 →  𝐵,  𝑓(𝑎) = 2, 𝑓(𝑏) = 3, 𝑓(𝑐) = 1. 

a) f  is an injective function (f  is an “into” function) because for  

∀𝑚, 𝑛 ∈ A: 𝑚 ≠ 𝑛 𝑓(𝑚) ≠ 𝑓(𝑛) . 
b) f  is a surjective mapping  (f  is an “onto” function), because 𝑓(𝐴) = 𝐵. 
c) f  is an injective mapping and f  is an surjective mapping , therefore f  is a 

bijective mapping. Then there is an inverse mapping  𝑓−1: 𝐵 → 𝐴, which 

can be defined as follows: 

∀ 𝑦 ∈ 𝐵 ∃! 𝑥 ∈ 𝐴: 𝑓(𝑥) = 𝑦. 𝑇ℎ𝑒𝑛 𝑥 = 𝑓−1(𝑦). 

As a result, 𝑎 = 𝑓−1 (2), 𝑏 = 𝑓 −1(3), 𝑐 = 𝑓−1 (1). 
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